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• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 16 rFkk iz'u 
27 gSaA  

Please make sure that the printed pages in this 

question paper are 16 in number and it contains 

27 questions. 

• iz'u-i= esa lcls Åij fn;s x;s dksM uEcj dksM uEcj dksM uEcj dksM uEcj dks Nk= mÙkj-iqfLrdk 
ds eq[;-i`"B ij fy[ksaA 

The Code No. on the top of the question paper 

should be written by the candidate on the front page 

of the answer-book. 
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• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper.    

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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uksVuksVuksVuksV    %%%%    (i) bl iz'u-i= esa dqy 27 iz'u gSa] tks fd rhurhurhurhu [k.Mksa % ^v*^v*^v*^v* 
¼HkkSfrdh½] ^c*^c*^c*^c* ¼jlk;u foKku½] ,oa ^l*^l*^l*^l* ¼tho foKku½ esa 
ck¡Vs x;s gSaA 

  This question-paper consists of 27 

questions, which are divided into three 

Sections : 'A' (Physics), 'B' (Chemistry), and 

'C' (Life Science). 

 (ii) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA        

  All questions are compulsory.  

 (iii) cgqfodYih; iz'uksa ¼iz'u la[;k 1, 2, 3, 9, 10, 11, 
16, 17, 18, 19, 20 ,oa 21½ ds lghlghlghlgh fodYi viuh 
mÙkj-iqfLrdk esa fyf[k,A 

  Write the correct option in your Answer-

book of the multiple choice type questions 

(Question Nos. 1, 2, 3, 9, 10, 11, 16, 17, 18, 

19, 20 ,oa 21). 

 (iv) rhuksa [k.Mksa ds vafre iz'uksa ¼iz'u la[;k 8, 15 ,oa 27½ 
esa vkarfjd fodYi miyC/k gSaA  

  Internal choices are available in the last 

questions (Question Nos. 8, 15 & 27) of all 

the Sections.  
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 (v) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA  

  Marks are indicated against each question.   

 (vi) iz'uksa ds mÙkj muds vadkuqlkj gh nhft,A  

  Answer the questions according to their 

marks.  

[k.M & v[k.M & v[k.M & v[k.M & v    

    SECTION – A  [ M. M. : 23 

[    HkkSfrdhHkkSfrdhHkkSfrdhHkkSfrdh    ] 

[ Physics ] 

  1. Roj.k dk S.I. ek=d gS % 1 

 (A) ehVj@lsd.M (B) ehVj 

 (C) ehVj@lsd.M2  (D) ehVj-lsd.M  

 The S. I. Unit of acceleration is : 

 (A) Metre/Second  (B) Metre 

 (C) Metre/Second
2
 (D) Metre-Second 
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  2. i`Foh ij 'g' dk eku gksrk gS % 1 

 (A) 9.8 eh0/ls0  

 (B) 9.8 eh0/ls02
 

 (C) 980 eh0/ls02
 

 (D) 9.8 lseh0/ls02
 

 The value of 'g' over earth surface is : 

 (A) 9.8 m/sec  

 (B) 9.8 m/sec
2
 

 (C) 980 m/sec
2
 

 (D) 9.8 cm/sec
2
 

  3. fuEu esa ls fdlesa /ofu rjaxsa lcls rst pyrh gSa \ 1 

 (A) Bksl 

 (B) nzo 

 (C) xSl 

 (D) buesa ls dksbZ ugha 
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 In which type of medium, the sound wave travels 

faster ? 

 (A) Solid 

 (B) Liquid 

 (C) Gas 

 (D) None of these 

  4. foLFkkiu vkSj pky dks ifjHkkf"kr dhft,A 2 

 Define displacement and speed. 

  5. (a) U;wVu ds xfr dk r`rh; fu;e fy[ksaA 2 

  State Newton's third law of motion. 

 (b) tc fdlh NM+h ls ,d njh dks ihVk tkrk gS] rks /kwy ds 

d.k ckgj vk tkrs gSaA Li"V djsaA  2 

  When a carpet is beaten with a stick, dust 

comes out of it. Explain. 
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  6. (a) 'kfDr D;k gS \ 'kfDr dk lw= vkSj ek=d fy[ksaA 2 

  What is power ? Write unit and formula of 

power. 

 (b) ,d cSVjh cYc tykrh gSA bl izØe esa gksus okys ÅtkZ 

ifjorZuksa dk o.kZu dhft,A   2 

  A battery lights a bulb. Describe the energy 

changes involved in the process. 

  7. fuEu dks ifjHkkf"kr dhft, % 2 + 2 

 Define the following terms : 

 (a) vko`fÙk 

  Frequency 

 (b) vk;ke 

  Amplitude 

  8. (a) xq#Rokd"kZ.k ds lkoZf=d fu;e ds pkpkpkpkjjjj egÙo fy[ksaA 4 

  Write four importance of universal law of 

gravitation. 
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 (b) vfHkdsUnz cy vkSj xq#Ro cy ls D;k vfHkizk; gS \ 2 

  What is meant by centripetal-force and 

gravitation force ? 

vFkokvFkokvFkokvFkok    

OR 

    (a) vkfdZehMht dk fl)kar fy[ksaA vkfdZehMht ds fl)kar ds 

vuqiz;ksx D;k gSa \   4 

  Write the Archimedes principle. What are 

the applications of Archimedes principle ? 

 (b) ;fn nks oLrqvksa ds chp dh nwjh dks vk/kk dj fn;k tk, 

rks muds chp xq#Rokd"kZ.k cy fdl izdkj cnysxk \ 2 

  How does the force of gravitation between 

two objects change when the distance 

between them is reduced to half ? 
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[k.M & c[k.M & c[k.M & c[k.M & c    

    SECTION – B  [ M. M. : 15 

[ jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku ]    

[ Chemistry ] 

  9. 'kq"d cQZ dgykrh gS %   1 

 (A) Bksl CO2  (B) H2O 

 (C) O2  (D) H2 

 Dry ice is known as : 

 (A) Solid CO2  (B) H2O 

 (C) O2  (D) H2 

10. fuEufyf[kr esa dkSu&lk ifjorZu jklk;fud gS \ 1 

 (A) eksecÙkh dk tyuk   

 (B) ty ls cQZ cuuk 

 (C) [kkuk idkuk  

 (D) (A) vkSj (C) nksuksa 
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 Which of the following is chemical changes ? 

 (A) Burning of candle  

 (B) Freezing of water 

 (C) Cooking of food 

 (D) Both (A) and (C) 

11. ukbVªkstu dk ijek.kq nzO;eku gS %  1 

 (A) 12  (B) 14 

 (C) 16  (D) 32 

 The atomic mass of nitrogen is : 

 (A) 12  (B) 14 

 (C) 16  (D) 32 

12. m/oZikru dks ifjHkkf"kr dhft,A 2 

 Define the term 'Sublimation'. 

13. fuyacu dks mnkgj.k lfgr le>kb,A 2 

 Explain the suspension with example. 
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14. eksy ls D;k vfHkizk; gS \ ,d eksy dk eku fdruk gksrk gS \ 2 

 What is meant by mole ? What is the value of 

one mole ? 

15. (a) mnkgj.k ds lkFk O;k[;k dhft, %  2 + 2 

  (i) leLFkkfud (ii) nzO;eku la[;k 

  Explain with examples : 

  (i) Isotopes (ii) Mass number 

 (b) v.kq o ijek.kq esa nksnksnksnks varj fy[ksaA  2 

  Write the two differences between atom and 

molecule. 

vFkokvFkokvFkokvFkok    

OR 

    (a) bysDVªkWu vkSj izksVkWu esa rhurhurhurhu varj fy[ksaA 3 

  Write the three differences between 

electron and proton. 
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 (b) dkcZu vkSj lksfM;e ds ijek.kqvksa ds fy, bysDVªkWu 

forj.k fyf[k,A   2 

  Write the distribution of electrons in carbon 

and sodium atoms. 

 (c) vxj fdlh ijek.kq dk K vkSj L dks'k Hkjk gS] rks ml 

ijek.kq esa bysDVªkWuksa dh la[;k D;k gksxh \ 1 

  If K and L shells of an atom are full, then 

what would be the total number of 

electrons in the atom ? 

[k.M & [k.M & [k.M & [k.M & llll    

    SECTION – C  [ M. M. : 22 

[ thothothotho    foKkufoKkufoKkufoKku ]    

[ Life Science ] 

16. dksf'kdk dh [kkst fdlus dh \ 1 

 (A) jkWcVZ gwd  (B) jkWcVZ czkmu 

 (C) iqjfdats (D) buesa ls dksbZ ugha 
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 Cell was discovered by : 

 (A) Robert Hooke (B) Robert Brown 

 (C) Purkinje  (D) None of these 

17. fuEu esa ls dkSu&lk ljy LFkk;h Ård ughaughaughaugha  gS \ 1 

 (A) iSjsadkbek  (B) dkWysadkbek 

 (C) LDysjsUdkbek (D) ¶yks,e 

 Which of the following is not a type of simple 

tissue ? 

 (A) Parenchyma (B) Collenchyma 

 (C) Sclerenchyma  (D) Phloem 

18. fuEufyf[kr esa ls fdlesa uXu cht gksrs gSa \ 1 

 (A) ftEuksLieZ esa  (B) czk;ksQkbV esa 

 (C) VSfjMksQkbV esa (D) ,saft;ksLieZ esa 

 In which of the following the seeds are naked ? 

 (A) Gymnosperm (B) Bryophytes 

 (C) Pteridophyte (D) Angiosperm 
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19. fuEu esa ls dkSu uohdj.kh; ÅtkZ dk òksr ughaughaughaugha  gS \ 1 

 (A) lw;Z  (B) dks;yk  

 (C) ok;q   (D) ty 

 Which of the following is not a renewable source 

of energy ? 

 (A) Sun  (B) Coal 

 (C) Wind (D) Water 

20. moZjdksa ds vR;f/kd mi;ksx ls gksrk gS % 1 

 (A) ok;q iznw"k.k (B) ty iznw"k.k 

 (C) /ofu iznw"k.k  (D) mijksDr lHkh  

 Excess use of fertilizers is : 

 (A) Wind pollution (B) Water pollution  

 (C) Sound pollution (D) All of these 

21. fo"kk.kq ls gksus okyk jksx gS % 1 

 (A) Msaxw cq[kkj  (B) ,M~l 

 (C) t ð qdke  (D) ;s lHkh 
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 Which disease caused by virus ? 

 (A) Dengue fever  (B) AIDS 

 (C) Common cold (D) All of these  

22. izksdSfj;ksVh dksf'kdk vkSj ;wdSfj;ksVh dksf'kdk esa nksnksnksnks varj fy[ksaA 2 

 Write two differences between prokaryotic cell 

and eukaryotic cell. 

23. ikS/kksa esa ljy Ård tfVy Ård ls fdl izdkj fHkUu gksrs gSa \ 

2 

 How are simple tissues different from complex 

tissues in plants ? 

24. thoksa ds oxhZdj.k ls D;k ykHk gSa \ 2 

 What are the advantages of classifying 

organisms ? 

25. vlaØked jksx fdls dgrs gSa \ nksnksnksnks mnkgj.k nhft,A 2 

 What are non-infectious diseases ? Give two 

examples. 
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26. ok;qe.My esa ik, tkus okys vkWDlhtu ds nksnksnksnks :i dkSu&dkSu&ls 
gSa \  2 

 What are the two forms of oxygen found in the 

atmosphere ? 

27. (a) i'kqikyu rFkk dqDdqV ikyu ds izca/ku iz.kkyh esa D;k 
lekurk gS \ 3 

  What management practices are common in 

dairy and poultry farming ? 

 (b) fefJr eNyh lao/kZu ls D;k ykHk gSa \ 3 

  What are the advantages of composite fish 

culture ? 

vFkokvFkokvFkokvFkok    

OR 

    (a) i'kqikyu ds D;k ykHk gSa \ 3 

  What are the benefits of cattle farming ? 

 (b) [ksrksa esa [kkn rFkk moZjdksa dk mi;ksx D;ksa djrs gSa \ 3 

  Why are manure and fertilizers used in field ? 

S 


